Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-V « EXAMINATION - SUMMER 2013

Subject Code: 350904 Date: 21-05-2013
Subject Name: DIGITAL ELECTRONICS & DIGITAL INSTRUMENT
Time: 10:30am - 01:00pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (& (1) Convert binary number 111.111 to decimal number. 01
(2) Convert octal number 246.7 to decimal number. 01
(3) Convert hex number BB.EED to decimal number. 01
(4) Convert the Grey code 11011 into binary number. 01
(5) (1010111), - (111011), = 01
(6) (10011.011), + (1111.111), = 01
(7) Convert the excess 3 codes 1010 1000 0110 into equivalent 01
decimal number
(b) (1) Explain Transistor as a Switch. 03
(2) Explain Series type biased positive Clipper 04
Q.2
(&) Explain NAND gate as a universal gate with truth tables. 07
(b)  Explain full subtractor with block diagram, logic circuit diagramand 07
truth table.
OR
(b) Explain R-S flipflop circuit with truth-table. 07
Q.3
e __ __ 07
(@) Using Demorgan’s Theorem prove that AB+BC+CA = AB+BC+AC
(b)  Comparison between combinational circuit and sequential circuit. 07
OR
Q.3 (&) Explain Edge triggered D type flipflop with truth table. 07
(b) Explain DTL logic circuit and state the advantages and 07
disadvantages of it.
Q4
(a) Explain shift registers and state the application of it. 07
(b) Describe Decade Counter. 07
OR
Q.4 (a) Explain 4-bit Ring Counter. 07
(b)  State application of following kinds of memories. 07
(1) PROM  (2) EPROM (3) RAM
Q.5
(@) Advantage and disadvantages of LED display. 07
(b) Explain the digital frequency meter with block diagram. 07
OR
Q.5 (a) Explain Resister weighted D/A converter. 07
(b) Explain the digital energy meter with the block diagram. 07
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(1) sttt olotR 11,111 of SAHA oloRUL 3UidR 53,
(2) A2 ololR 246.7 of SAHA dolRUL 3UIAR 53
(3) &5Y ol6? BB.EED of 3:HA ololRUL 3UldR 5.

(4) A 8IS 11011 of cllAAI] UL 3UIdR 52A.
(5) (1010111), - (111011), =
(6) (10011.011), + (1111.111), =

(7) AsAAU-3 1S 1010 1000 0110 of SUHA cAeUL 3UIAR 53

(1) 2lodblReRA [lu A3F AHestaAl.
(2) ARy etsu oanes WASla sellur unesAl.

NAND 82 adBls e B A g 2ot Uldct uxsA.
L Uog52R GAlS SIALUH, AYS SIALUH U g8 2UA

AU YHLA
iyal
R-S (AU SEU U 20lA WA A

Sl Qolotetl YRaAA Gualol 531 AUl s %

AB+BC+CA = AB+BC+CA

sLiollalaletcd URsle Ual Alsacellact Usle dRA wRuwiHe(l

3.
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A%y Zlot§ D YsiRell (AU sAAU gU 2ol A Aol
DTL Al%)s URSle UHAA Ml Aol SIRLEL Mol ARSLAEL

(L.
Alse 29w AHAA el Aol GUAN WU
SI¥s s1Bo22 cldl.

»Yql
4-6{le ol s1Goe? UM

ol euAA Yste(l AHILR3ell GuDN LU,
(1) PROM (2) EPROM  (3) RAM
LED SRUQeIl $l2LEL Aol IR FIAEL R

Sfled glsaell HleR oclls slauouH WA UHesA
Yl
e ABSs DIA solaer dHxA

loflect Aotef] Hle: 6Als slaAUH AU AHsLA
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